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Mathematical Methods - The Normal Distribution  
Revision Questions  
 
 
Author: Hayley Dureau 
 
Each of the questions included here can be solved using either the TI-Nspire CX or CX CAS. 
 
 

 

Question 1 

A random variable X is normally distributed with a mean of 80 and variance 20. Find, to three decimal places, 
Prሺ68 ൑ 𝑋 ൏ 86ሻ.  
 

 
Response: 
 
 
 
 
 
 

 
 
 

Question 2 

The age, in months, of children starting three-year old kindergarten is normally distributed with a mean of 41 and a 
standard deviation of 3. 
The percentage of children who start three-year old kindergarten who are older than 38 months is closest to: 
A. 63% 
B. 68% 
C. 84% 
D. 95% 
E. 99.7% 
 

 
 
Response: 
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Question 3 

A random variable X is normally distributed with a mean of 35 and variance 25. 
Given that Prሺ𝑋 ൏ 𝑎ሻ ൌ 0.82, find, to one decimal place, the value of 𝑎.  
 
 
 
Response: 
 
 
 
 
 
 

 
 
 
Question 4 

Y is a random variable with a normal distribution. The mean of Y is 32 and the variance is 10. The values of 𝑐 and 𝑑 
are such that Prሺ𝑐 ൏ 𝑌 ൏ 𝑑ሻ ൌ 0.95 where this is the middle 95% of values. Find, to two decimal places, the 
values of 𝑐 and 𝑑.   
 

 
 
Response: 
 
 
 
 
 
 

 
 
 
Question 5 

If 𝑋~𝑁ሺ𝜇 , 0.4ሻ and Prሺ𝑋 ൏ 20ሻ ൌ 0.85, find, to two decimal places, the mean of the normally distributed 
variable 𝑋.     
 

 
 
Response: 
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Answers 
 
Question 1 

𝑓ሺ𝑥ሻ ൌ ଵ

ఙ√ଶగ
𝑒

షሺೣషഋሻమ

మ഑మ  

𝜇 ൌ 80, 𝜎 ൌ 2√5 
 

 
 
 

 
 
Solution: 0.906 
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Question 2 
 
 
 
Solution: C  
 
 
 
 
 
 
 
 
 
 

 

 

Question 3 

 

  
 
 

 
Solution: 𝑎 ൌ 39.6 
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Question 4 

The middle 95% of the distribution, therefore Prሺ𝑌 ൏ 𝑐ሻ ൌ 0.025   
and Prሺ𝑌 ൏ 𝑑ሻ ൌ 0.975 
 
 

 
 

 
Solution: 𝑐 ൌ 25.80 and 𝑑 ൌ 38.20 
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Question 5 

 
 
Prሺ𝑋 ൏ 20ሻ ൌ 0.85 
 
Prሺ𝑍 ൏ 1.03643337977ሻ ൌ 0.85 
 

𝑍 ൌ
𝑋 െ 𝜇

𝜎
 

 

1.03643337977 ൌ
20 െ 𝜇

√0.4
 

 
𝜇 ൌ 19.34 
 
 
 

 
Solution:  μ=19.34 
 


